Advanced Economic Theory

T.Y.B.A.
ECONOMICS

Paper - | .
(10 2016 QP Code : 27185

J

N.B.:

( 3 Hours) [ Total Marks : 100

(1) Attemptany five questions, selecting not more than three from any one
section.

(2) Figures to the right indicate full marks.

(3) Draw neat diagrams wherever necessary.

Section - I
Answer any two of the following :-
(a) Explain how price and output is determinted under dominout firm price
leadership model.
(b) With the help of kinked demand curve hypothesis, explain price rigidity in
oligopoly. ‘
(c) Explain Nash Equilibrium in the context of Game Theory.

Attempt any two of the following:-

(a) Explain the factor price determination under imperfect competition in
product and factor markets.

(b) Discuss Loanable funds Theory of interest rate.

(c) Explain wage determination under collective bargaining.

Solve any two of the following :-.

(a) Whatis meant by general equilibrium and explain General equilibrium in
production and consumption.

(b) Explain how pareto optinality conditions are fulfilled under perfect
competition. -

(¢) Explainthe Arrows Impossibility Theorem.

Answer the following question (any two) :-

(a) What is search costs? Explain the process of search cost.

(b) What is adverse selection ? Explain how market signalling can be used to
overcome this problem.

(c) Discuss the principal-agent problem.
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Section -11

5. Attempt any two of the following :-
(a) Derive LM curve and explain its features.

(b) Explain the relationship between slope of IS curve and effectiveness of
monetary policy.

(c) Derive Aggrgate demand curve and explain its features.

6. Attempt any two of the following :-
(a) Explain the merits and demerits of flexible exchange rate.
(b) Discuss the purchasing power party theory of exchange rate.

(c) Explain the concept and structure of the balance of payments.

7. Attempt any two of the following :-
(a) Explainthe Comparative Cost Advatage Theory of international trade.

(b) Explain the determination of equilibrium terms of trade with the help of
offer curve.

(c) Define tariffs. Describe the various effects of tariffs.

8. Attempt any two of the following -
(a) Explainthe Coase theorem.
(b) Discuss the role of the state in correcting market failures.

(c) Describe the impact of different elasticities of demand on incidence of
taxation.

[TURN OVER

FS-Con.4439-16.

10
10

10

10

10
10

10

10

10

10

10
10



QP Code : 27185

-3-
(FOSa ®UTER)
(37 ) [ gt 200

() SeEhweia s ot o7 geiferare,
(3) STIRH qY Yok ATHcAT FET.

o -¢

() ms@w@w%ﬁﬁﬁm@%maﬁwﬁ&aﬁmﬁ
T A T H |

(@) < WA s iEdeRTeAT WERAN TR ST qret fhrdi=
TSR .

(%) G fagrarean defq Fo guaiar T2l .

. EEEdEh! SuTaE eF T Hieal.

(37) Wew TR § Q. SR Y0 TqHi AfdedTd AT, e TR
fopma fAfvadia Tasdterto .

(@) sl wefie feft fagiam == w0

(%) wTEs Hiel Tgdia daq FfRed wu €ld @ T B

(37) §9 RN GG FEUR HRI 7 SeAed I IR HIHR FHAIE
TS . ,

(@) ot exdiean fRedta e wiwar S qear wfl fd @ T w0

(%) D “HTIRIAT THI' TS H.

. ETee weEl Seat forer. (ShuTdE §H)

(37) Ty T TEUS HIA? MY @A Tsh AT T B

(@) whiger Fias FEvR H1 7 SR Hehared] FAFER Hege gt weer
FHIN Greae AT T T H,

(%) TTeres -alate TreEt ==l w .

[ TURN OVER

FS-Con.4439-16.

(2) FIREE U TE EYST Wy UhT RO ST Sed 9 S de.

20

g0

g0

g0

g0

20

g0

g0

g0

20

g0



QP Code : 27185

-4 -
e -3

. TR HRIvE S TR Higa.
(37) LM =sh higd caret Jf¥mesl e .

() IS TehTET IAT AT TeTREn SR TRomHERRE e J6E T

(&) T Al o a1 9 AT SfTsel T .

(a7) weeredn fafama U= Tor-gy wase .
() @ v wwar frgia v +.
(%) SHIER AY Teheqdl I A= TIHT I 6.

(31) SIS ST Ao @e W figla T .

(@) YT ToRTeAT HTERAT SR saTa el e v g § v .

(%) st el g ferean fafow wftormrs a5

. ETAleeh] TuTE §F T Hiedl.

(31) HE I THA TIL B

(=) ng{aﬂwﬁwmaﬁaﬁw.

() seoEdie wmofren Tafe wrafrendean afommrE == 6.

FS-Con.4439-16.

g0
go
g0

g0

g0

g0

Lo
%0

g0
g0
g0




Growth and Development

T.Y.B.A.
ECONOMICS -

(Paper -V)
{ 12" April 2016 } '/ QP Code : 27270

(3 Hours) [ Total Marks : 100

N.B. : (1) Attempt any five questions, selecting not more than three quesions from
any one section.

(2) Answer to the two sections should be written in the same answer book.

(3) Figures to the right indicate full marks.

Section - 1

. Attémpt any two questions of the following :-

(a) Define economic development and distinguish between economic growth
and economic development.

(b) Explain Sen's Capabilities Approach.

(c) Explain the role of market in economic development.

. Attempt any two questions of the following :-

(a) Discuss Rostow's stages of growth.

(b) Explain Lewis's model of unlimited supplies of labour.
(c) Explain Solow's model of Economic growth.

. Attempt any two questions of the following :-

(a) Outline Romer's endogeneous growth model.

(b) Write an explanatory note on Big Push theory.

(¢) Critically examine the theroy of critical minimum effort.

. Attempt any two questions of the following :-

(a) What are the different approaches to poverty measurement ?
(b) What are the causes of income inequality ?

(c) Explain Kuznet's inverted U hypothesis.

Section 11

. Attempt any two questions of the following :-

(a) Explain the microeconomic household theory of fertility.

(b) What are the various causes of high fertility in developing countries ?
(c) Explain the contribution of education in economic development.

. Attempt any two questions of the following :-

(a) What are the various causes of urbanisation ?

(b) Explain the effects of migration on economic development.
(c) Write a note on microfinance revolution.
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7. Attempt any two questions of the following :- 20
(a) Explain the role of agriculture in economic development.
(b) Discuss the various policies of rural development.
(¢) Explain various provisions for agriculture under WTO.

8. Attempt any two questions of the following :- 20
‘(a) Write a note on outward looking trade policy.
(b) Explain the merits of multinational corporations. .
(c) Evaluate the structural adjustment and stabilisation programme of the

World Bank.
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T.Y.B.A.
ECONOMICS
Indian Financial System
(Paper - VI)

{ 13" April 2016}

J

QP Code : 27363

(22 /3 Hours) [ Total Marks : 80/100

N.B.: (1) IDOL students should attempt any five questions.
(2) Regular students should attempt any four questions.
(3) Figures to the right indicate full marks,

1. Attempt any two of the following :-
(a) Explain the components of Indian financial system
(b) Discuss the role of financial system in economic development.
(c) Explain the indicators of financial development.

2. Attempt any two of the following :- ,
(a) Recommendations of Narasimham Committee of 1991.
(b) Developmental functions of the RBI.
* (¢) Growth of NBFCs.

3. Attempt any two of the following :-
(a) Equities.
(b) Bonds and debentures.
(¢) New hybrid financial instrumetns.

4. Attempt any two of the following :-
(a) Components of organised money market.
(b) Structure of Indian capital market.
(¢} Constituents of foreign exchange market.

5. Attempt any two of the following :-
(a) Meaning and significance of derivatives.
(b) Types of derivatives.
(¢) Pricing of options.

6. Attempt any two of the following :-
(a) Insurance business in India.
(b) Credit rating in India.
(c) Securities and Exchange Board of India.

7. Write short notes on any two of the following :-
(a) Narasimham Committee Report of 1998.
(b) Transmission channels of monetary policy.
(c) Features of Indian money market.
(d) Mutual funds in India.
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T.Y.B.A.
ECONOMICS
Research Methodology

(Paper - VII)
{ April 2016 }

N.B.: (1)

(2)
3)
4
(%)
(6)

(3 Hours)

QP Code : 27449

[ Total Marks : 100

Attempt any five questions, selecting not more than three questions from

each section.

Answers to both the sections should be written in the same answer book.

Figures to the right indicate full marks.

Use of simple calculator is allowed.
Graph papers will be supplied on request.

Attach the graph paper inside the answer-book.

1. Attempt any two the following :-

(a) Review various characteristics of scientific research.

Section -1

(b) Explain the process of research work.
(c) State the role of computer technology in research.

2. Attempt any two the following :-
(a) Explain scales of measurement.

(b) Discuss merits and demerits of sample survey method.
(c) Describe non- probability sampling methods.

3. Attempt any two the following :-
(a) What are the merits and demerits of questionnaire method?

(b) Write a note on Interview method.

20

20

(c) Explain various sources of secondary data available for a student of Economics.

4. Attempt any two the following :- A
(a) Draw Histogram and and frequency polygon for the following data.

20

Weight (kg)

30-35

35-40

40-45

45-50

50-55

55-60

No. of girls

15

30

50

65

40

20

(b) Calculate Quartiles Q,, Q,and Q, for the following data -

Marks 0-10 10-20 20-30 [30-40 40-50
No. of 12 23 35 20 10
students

FS-Con. 4769-16.
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(c) Calculate arithmetic mean (7 ) and standard deviation (SD) for the following data.

Income (Rs) | 100-150 [ 150-200 | 200-250 | 250-300 | 300-350

No. of
workers 5 8 14 20 3
Section -1I
5 Attempt any two the following :- '
(a) Calculate Spearman's Rank Correlation Coefficient for the following :- 20

Marksin |40 45 68 75 160 | 80 [ 65 | 70
History

Marksin | 60 55 68 72 170 | 85 | 63 | 75
Geography

(b) Findtheregression equation of X on'Y and Y on X for the following data :-
n=10 > x=650 > y=760

byx==0.75 bxy==0.95

(¢) Fitatrend using three yearly moving average method for the following data.

Year | 2009 | 2010 | 2011 2012 | 2013 2014 | 2015

Export | 200 275 350 550 700 800 § 1050

(kgs)
6. Attempt any two the following :- 20
(a) (i) Statethe uses of index numbers. 5
(ii) Calculate real income for the following data. 5
Year 2008 2009 2010 | 2011 | 2012

Income 450 500 600 | 700 | 750
(Rs.)

Index 110 115 120 | 130 | 135
Number

URN
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(b) Calculate Fisher's Index Number for the following :-

2008 (Base year) 2014 (Current year)
Commodity Price (Rs) - Quantity Price (Rs.) | Quantity
A 15 10 20 09
B 45 10 50 08
C 150 05 140 05
D 20 15 25 20

(c) Calculate Cost of living index number for the following data :

2014 (P)| 2010 ()
Group Price (Rs) |Price (Rs.) | Weight
Food 50 40 50
Clothing 20 20 15
Fuel and lighting 15 10 10
House Rent 20 15 15
Miscellaneous 40 . 35 10

7. Attempt any two the following :-
(a) What are the types of hypotheses?

(b) State various criteria of a good hypothesis.

(¢) Explain-(i) Typeland Typellerrors.
(i) Level of significance.

8. Attempt any two the following :-
(a) Explain the meaning and significance of a research report.

(b) Describe various types of research reports.

(¢) Discuss the structure/ format of a research report.
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T.Y.B.A.
ECONOMICS
International Economics
(Paper - VINl)

{ April 2016}

J QP Code : 27587

.(3 Hours) [ Total Marks : 100

NB : (1) Answer any five questions selecting not more than three from any section.
(2) Figures to the right indicate full marks.

Section - I

1. Explain any two :- 20
(a) Theory of comparative cost in money terms.
(b) Factor endownment theory of international trade.
(c) Leontieff Paradox.

2. Discuss any two :- 20
~ (a) factors determining international labour mobility.
(b) Wage-convergene. )
(c) Types of international capital movements.

3. Examine any two :- 20
(a) Need for protection ‘
(b) Import substituting industrilisation as a growh strategy.
(c)  Labour standard and environment issues with reference to WTO.

4. Attempt any two :- 20
(a) Examine the determination of optimum tariff.
(b) Discuss the effects of custom union.
(¢) Write a note on - ‘“Non-tariff Barriers’

Section - II

5. Attempt any two :- 20
(a) Explain the structure of balance of payments.
(b) What are the causes of disequilibrium in balance of payments ?
(¢) Examine the Marshall-Learner conditions for the success of devaluation.

6. Answer any two of the following : 20
(a) Explain the functions of foreign exchange market.
(b) Examine balance of payments theory of exchange rate.
(¢) Write a note on spot and forward exchange rates.

7. Attempt any two : 20
(a) Discuss the merits and demerits of flexible exchange rate.
(b) What are the objtective of IMF ? How far has the IMF been successful in
achieving its objectives.

[TURN OVER
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8. Attempt any two :- : 20
(a) What are the types and benefits of an economic integration.

(b) Examine the working of the European Union.
(c) Write a note on ‘NAFTA’.
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T.Y.B.A.
ECONOMICS

Export Management

(Paper — IX)
{ April 2016 }

QP Code : 27720

: [Regular student : (2% Hours) [ Total Marks :80
- [IDOL student (3 Hours) [ Total Marks :100

N.B.: (1) All questions are compulsory.
(2) Figures to the right indicate full marks.
(3) The student of IDOL should attempt any five questions.

1. Attempt any two of the followmg -

10
10
10

10

10

10

10
10

10

10

10
10

10
10

10

(a) Explain the various functions of an export manager
(b) Explain the various types of Tariff barriers. »
(c) What is meant by Product Positioning? What are the steps involved in it ?
2. Attempt any two of the following :-
' (a)- Explain the objectives and achievements of WTO.
(b) Write a comprehensive note on SAARC.
(¢) Examine the contribution of EU in promoting export.
3 Attempt any two of the following :-
(a) Discuss the role of trade delegation and exhibition in foreign trade.
(b) Explain the significance of formgn offices in expansion of foreign
: trade.
(c) -Examinethe contrlbution of festivals and tradfairs in promoting export.
4. Attempt any two of the following :-
(a) Explain the objectives of export pricing.
(b) Write in detail merits and demerits of skimming pricing strategy.
‘(c) Calculate the FOB price from the following details.
(1) Total unit of good produced and exported 25,000 units. -
(2) Ex-factory cost - :- Rs. 10 per units
(3) Packing cost ' - :- Rs. 2 per units
(4) Transport cost :- Rs. 2 per units
(5) Loading cost :- Rs 2 per units
(6) Profit contribution 15% of FOB cost
(7) Duty draw back 15% of FOB price
5. Attempt any two fo the following :-
(a) Explain the significance of export finance.
(b) ‘Analys'es the functions of ECGC.
(c) Explain the role of MMTC.
e ‘ [TURN OVER.
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6. Attempt any two fo the following :-

(2)

(b)

(©)

What is the letter of credit? Explain the steps involved in receiving

. a letter of credit.

Explain any three important shipping documents required by an
exporter.
Briefly discuss the incentives available to an Indian exporter.

7. Write a note on any two fo thé following :- -

(a)
(b)
(©)
(d)
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STC

Comodity Boards

Methods of exchange control.
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T.Y.B.A.
ECONOMICS
Advanced Economic Theory

(Paper - V)
{ 21t April 2016 }

J

N.B.:

( 3 Hours) [ Total Marks : 100

(1) Attempt any five questions, selecting not more than three from any one

section.

(2) Figures to the right indicate full marks.
(3) Draw neat diagrams wherever necessary.

Section - 1

1. Answer any two of the following :-

(a)
(b)

(c)

Explain Cournot's model of oligopoly.
What are the types of price leadership? Discuss the low cost price

“leadership model.

Explain prisoner's dilemma in Game theory.

2. Attémpt any two of the following:-

(2)

(b)
(c)

Show how factor price is determined under perfectly competitive market
conditions. |
Discuss Loanable Funds Theory of interest rate.

Explain the risk bearing and uncertainty Theory of profit. -

3. Attempt any two of the following :-

(@)
(b)
(c)

Explain General equilibrium Analysis in production.

What is pareto optimality ? Explain the marginal condition of efficiency.
Explain how pareto optimality is achieved automatically under conditions
of prefect competition.

4.  Answer the following question (any two) :-

(2)
(b)

(c)

Explain the concept of search costs. Discuss the problem of information
failure. , ‘ ,

What is asymmetric information? Discuss the market for lemons in the
context of markets for used goods.

Explain the efficiency wage theory.
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Section -11

Answer the following questions (any two) :-

(a) Derive LM curve and explain its features.

(b) Explain the relationship between the slope of IS curve and effectiveness of
monetary policy.

(c) Explain the phillips curve.

Attempt any two questions :-

(a) Explain the determination of the foreign exchange rate under free market.
(b) Explain the Mundell-Flemming model in fixed exchange rate and capital.
(¢) Explainthe meaning, causes and impact of currency crisis.

Attempt any two questions :-

(a) Explainthe modern theory of international trade.

(b) Explain the arguments in favour of protective trade policy.

(¢) Show earilibrium terms of trade with the help of offer curves.

Attémpt any two questions :-

(a) Define public goods and explain its features.

(b) Discuss the ability to pay principle of taxation.
(c) Explain Musgrave's concepts of incidence of tax.
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T.Y.B.A.
ECONOMICS
Growth and Development
(Paper -V)
22" April 2016
{ P } ) Q.P. Code : 27269
(3 Hours) [ Total Marks : 100

N.B. : (1) Attempt any five questions, selecting not more than three quesions from
any one section.

(2) Answer to the two sections should be written in the same answer book.

(3) Figures to the right indicate full marks.

Section - 1

. Attempt any two questions of the following :-

(a) What is economic development ? Explain three core values of economic
development.

(b) Write an explanatory note on Sen's Capabilities Approach.

(¢) Explain the role of state in economic development.

. Attempt any two questions of the following :-

(a) Explain Rostow's stages of growth.

(b) Explain Harrod's growth model.

(¢) Discuss solow's model of economic growth.

. Attempt any two questions of the following :-

(a) Explain Romer's endogenous growth model.
(b) Explain the concept of multiple equilibria.
(¢) Explain the Big Push theory.

. Attempt any two questions of the following :-

(a) Write an explanatory note on Head-Count Index and Poverty Gap Indices.
(b) Explain the concept of Lorenz-curve.

(¢) Explain the impact of income inequality on economic development.

Section II

. Attempt any two questions of the following :-

(a) Explain the theory of demographic transition.

(b) What are the effects of high fertility.

(¢) Explain the role of health on economic development.

. Attempt any two questions of the following :-

(a) What are the effects of urbanization on economic development?
(b) Explain the various causes of migration.

(¢) Write a note on women in informal sector.
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2

7. Attempt any two questions of the following :-
(a) Explain the role of agriculture in economic development.
(b) Write a note on organised and unorganised rural credit market.
(¢) What are the policies for rural development?

8. Attempt any two questions of the following :-
(a) Write an explanatory note on the inward looking trade policy.
(b) Explain the role of MNC's in the economic development of the developing
countries.
(c) Explain the structural adjustment and stabilization programme of IMF.
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T.Y.B.A.
ECONOMICS
Indian Financial System
(Paper - VI)

{ 25" April 2016}

QP Code : 27362

[For Regular students] 2% Hours [Total Marks : 80
[For IDOL Students] 3 Hours [Total Marks : 100

N.B. : (1) Regular students should attempt any Four questions.
(2) IDOL students should attempt any Five questions.
(3) Figures to the right indicate full marks.

Attempt any Two of the following:- 20
(a) Discuss various components of the financial system.
(b) Explain the role of financial system in country's economic development.
(c) What are the indicators of financial development ?

[S—

2. Attempt any Two of the following:- 20
‘ (a) Narasimham Committee Report, 1998.
(b) Non-performing assets of commercial banks.
(c) Development banking in India.

3. Attempt any Two of the following:- 20
(a) Equities
(b) Debentures
(¢) New financial instruments

4.  Attempt any Two of the following:- . 20
(a) Components of Indian money market.
(b) Reforms in primary capital market.
(¢) Functions of foreign exchange market.

5.  Attempt any Two of the following:- ' 20
(a) Meaning and significance of derivatives.
(b) Features of forward markets.
(¢) Pricing of futures.

6. Attempt any Two of the following:- 20
(a) Mutual funds in India.
(b) Credit rating agencies in India
(c) IRDA.
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7.  Write short notes on any Two of the following: 20
(a) Functions of the financial system
(b) Growth of NBFCs
(c) Features of Indian money market. |
(d) Securities and Exchange Board of India.
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